Laughter clips

Needle
The following clips contains several different types of laughter particle. First identify the number and type of particle, and then think about the different vowel sounds that accompany them.

Field:Oct88:1:8:12-13.
Les:        [.hhhh An’ I[was g’nna try'n get ho]ld'v a needle.=
Joy:                    [W e l l  I   d o n ‘t]
Les:     =b't then I thought .hhh We:ll I don't know. P'aps I
         won't. .hh the‑ (0.2) e‑hhh who do I know it's been
         stuck ((Laughter 1)) in ((Laughter 2))
Joy:     ((Laughter[ 3    [))
Les:               [.hhh [So I haven't got hold'v a needle
Les:     ((Laughter 4))  [.hhhh
Joy:                     [P'haps it's just as well=
Les:     =[eh
Joy:     =[could have a few people faintin[g  [at the si‑:ght'v=
Les:                                      [((L[aughter 5))
Joy:     =((Laughter 6))
Les:          [.hhh  [mYeh .p! O:[k a[y then]

Holt:Oct88:1:8:12-13.
01 Les:        [.hhhh An’ I[was g’nna try'n get ho]ld'v a needle.=
02 Joyce:                  [W e l l  I   d o n ‘t]
03 Les:     =b't then I thought .hhh We:ll I don't know. P'aps I
04          won't. .hh the‑ (0.2) e‑hhh who do I know it's been
05          stu(h)uck in uh heh he:h hih
06 Joy:     huh huh ho ho[ho ho[ho
07 Les:                  [.hhh [So I haven't got hold'v a needle
08 Les:     uh huhh huh huh.[.hhhh
09 Joy:                     [P'haps it's just as well=
10 Les:     =[eh
11 Joy:     =[could have a few people faintin[g  [at the si‑:ght'v=
12 Les:                                      [ehh[heh huh
13 Joy:     =i-:t[eh!ah![ah!
[bookmark: _GoBack]14 Les:          [.hhh  [mYeh .p! O:[k a[y then]

Wilson 02 15:25
01  Ellie:  Can ↑we pl’se bring↑ the matt:↓ress:.
02          (0.2)
03  Deb:    Huhkh [ huh ↑huh huh ◦huh   ]
04  Lisa:         [↑MMM >hm hm hm hm hm<]
05          >>hm hm ◦hm hm<<=
06  Deb:    .hthhhh <↑How are we↑ going> to take 
07          that Ellie.

Wilson 02 1:34.
32 Deb:  who are ↑they: uhuhuh (0.3) ◦.huh .snhh
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